

Duke Tenbra James

15/ENJA07H012

Petroleum-Engineering

ENCA381 Assignment (3)

- (1) If  $y = e^{2x+x}$ , show that  $y'' = y'(2x+1) + 2y$  and hence, prove that  $y^{(n+2)} = (2n+1)y^{(n+1)} + 2(n+1)y^n$

Soln

$$y = e^{2x+x} \dots (1)$$

$$\frac{dy}{dx} = (2x+1)e^{2x+x} = y' \dots (2)$$

$$\frac{d^2y}{dx^2} = (2x+1)(2x+1)e^{2x+x} + e^{2x+x}$$

$$= (4x^2 + 4x + 1)e^{2x+x} + e^{2x+x} \dots (3)$$

Equating (3) to (2) and (1) eqn

$$(4x^2 + 4x + 1)e^{2x+x} = (4x + 4x + 1)e^{2x+x} + e^{2x+x} \dots (4)$$

$$\therefore y'' = y'(2x+1) + 2y$$

$$y^{(n)} = y'(2x+1) + 2y$$

Using Leibniz theorem

$$- y'' + y'(2x+1) + 2y = 0$$

Solving for  $y^{(n)}$

$$u = y^{(n)}, \quad u^n = y^{(n+2)}$$

$$v^0 = 1, \quad v^0 = 0$$

$$y^n = y^{n+2} + 0 = y^{n+2} \dots (5)$$

$$y \neq y^{(n)}, \quad u^n = y^{(n)}$$

Solving for  $y^{(n+1)}$

$$u = y^{(n)}, \quad u^n = y^{(n+1)}$$

$$v = 2x+1, \quad v' = 2, \quad v'' = 0$$

$$y^n = y^{(n+1)}(2x+1) + 0 + 0 \dots (6)$$

Solving for  $2y$

$$u = y, \quad u^n = y^n$$

$$v = 2, \quad v' = 0$$

$$y^n = 2 \text{ to } = 2y^n \quad \text{--- (3)}$$

Combining the three eqns

$$\therefore y^{(n+2)} = y^{(n+1)}(2x+1) + 2y^n + 2y^n$$

$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2y^{(n)}(2n+1)$$

(a) Using the Leibnitz theorem, given that

(i)  $y = x^3 e^{4x}$ , determine  $y^{(5)}$

Soln

$$y' = x^3(4e^{4x}) + e^{4x}(3x^2)$$

$$y' = x^3 4e^{4x} + 3x^2 e^{4x} \quad \text{--- (1)}$$

$$y'' = x^3(16e^{4x}) + 4e^{4x} 3x^2 + 3x^2 4e^{4x} + 6x e^{4x}$$

$$y''' = x^3 64e^{4x} + 16e^{4x} 3x^2 + 3x^2 16e^{4x} + 6x 4e^{4x} + 3x^2 16e^{4x} + 6x 4e^{4x}$$

$$y^{(4)} = x^3 256e^{4x} + 3x^2 64e^{4x} + 3x^2 64e^{4x} + 6x 16e^{4x} + 3x^2 64e^{4x} + 3x^2 64e^{4x} + 24e^{4x} + 24e^{4x}$$

$$y^{(4)} = x^3 1024e^{4x} + 3x^2 256e^{4x} + 3x^2 256e^{4x} + 6x 64e^{4x} + 3x^2 256e^{4x} + 3x^2 256e^{4x} + 24e^{4x} + 24e^{4x}$$

$$y^{(4)} = x^3 256e^{4x} + 3x^2 64e^{4x} + 3x^2 64e^{4x} + 6x 16e^{4x} + 3x^2 64e^{4x} + 3x^2 64e^{4x} + 24e^{4x} + 24e^{4x}$$

$$y^{(4)} = x^3 1024e^{4x} + 3x^2 256e^{4x} + 3x^2 256e^{4x} + 6x 64e^{4x} + 3x^2 256e^{4x} + 3x^2 256e^{4x} + 6x 64e^{4x} + 6x 64e^{4x}$$

$$+ 3x^2 256e^{4x} + 6x 64e^{4x} + 6x 64e^{4x} + 96e^{4x} + 96e^{4x} + 6x 64e^{4x} + 96e^{4x} + 96e^{4x} + 0 + 96e^{4x} + 0$$

(ii)  $x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$ , show that

$$x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2+1) y^{(n)} = 0$$

Soln

$$w = x^2 y^{(n)}$$

Solving for  $x^2 y^{(n)}$

$$v = x^2, v' = 2x, v'' = 2, v''' = 0$$

$$u = y^{(n)}, u^n = y^{(n+2)}$$

$$y^n = y^{(n+2)}x^2 + n y^{(n+2-1)} - 2x + n(n-1) \frac{y^{(n+2)}}{x} + 0$$

$$= y^{(n+2)}x^2 + 2nx y^{(n-1)} + n^2(n-1)y^{(n)}$$

Solving for  $xy'$

$$u = x, u' = 1, u'' = 0$$

$$w^n = y^{(n+1)}x + n y^{(n+1-1)} + 0$$

$$= y^{(n+1)}x + n y^n$$

Solving for  $y$

$$w = y$$

$$v = 1, v' = 0$$

$$u = y, u^n = y^n$$

diff eq

∴ Then  $[x^2 y'' + x y' + y]^n = 0$  becomes

$$y^{(n)} = x^2 y^{(n+2)} + 2x n y^{(n+1)} + x y^{(n+1)} + n(n-1) y^n + n y^{(n)} + y^{(n)}$$

$$y^{(n)} = x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2-n) y^{(n)} + n y^{(n)} + y^{(n)}$$

$$y^{(n)} = x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2-n+n+1) y^{(n)}$$

$$= x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2+1) y^{(n)} = 0$$